To what extent do you agree, if at all, that the implementation of a budget deficit

reduction programme will improve the UK’s long-term economic prospects?

Justify your answer. 

 (25 marks)
Common mistakes 
Introduction 

1. Failure to define key terms accurately – many people defined the term direct tax but did it badly. The examiner doesn’t reward weak definitions
2. Failure to provide a brief overview of the point that you’d be discussing during the essay
Knowledge
1. Failure to use economic language throughout your essay. For example:-
An investment coming into the country from foreign firms as a result of lowering corporation tax is better explained as an increase in Foreign Direct Investment (FDI)
Application.
1. Limited use of data to support your explanations or evaluation, e.g. lowering of Direct taxes such as income tax would increase the budget deficit, which in 2016-17 is expected to reach £51.3bn.
2. Failure to draw a diagram. The primary model at A level is the AD-AS diagram. In a macroeconomic essay you should be able to accurately draw at least one AD-AS diagram.
3. Failure to properly label diagram – where mistakes were made it was usually through mislabelled axis. (e.g. Price instead of Price level or Output instead of Real National Output (RNO)
Analysis
4. Failure to properly telegraph a point – use the question itself to repeat the point back to the examiner “It could be argued that one benefit of cutting direct taxes such as income tax is that it could lead to an increase in short run economic growth”. It may sound overly ‘wordy’ but it’s entirely clear what you point is and that crucially that it’s helping you to focus on answering the question.
5. Trying to explain more than one point at a time. This is confusing for a marker and is not an efficient use of time. One of the keys to doing well in A2 exams is making your point succinctly, in clear logical chains and then evaluating it. 

For example many people started their points “It could be argued that cutting direct taxes such as income tax is beneficial to economic growth and living standards. 

Choose one point to explain. Explain it well and then evaluate it.

Evaluation 
6. Always start an evaluative comment with a evaluative phrase “However”, “the extent to which” “in the long run” etc. etc.: Evaluation wasn’t properly sign posted
7. Superficial evaluation: This means that either your evaluation point wasn’t explained in enough detail or your point wasn’t particularly sophisticated ( maybe it was something that a person with no knowledge of economics could have said)

TIP: Try and make at least one of your evaluative points in detail.
Task 

Read through the comments at the end of and surrounding your essay and tick which of the common mistakes above were you guilty of? (Are any of the same mistakes you made in a previous essay?
Then make a list of 5 mistakes that you will endeavour not to make in your next essay

Write them in the space below
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Read the extracts from an essay response to the question set and complete the tasks
Task 1: 
Extract A
Firstly, a decrease in the budget deficit would mean a reduction in government spending. The decrease in government spending would lead to a decrease in welfare payments.  This decrease in welfare payments would lead to a higher incentive for people to work.  Therefore the quantity of labour would increase.  This improves the productive potential of the economy
Discuss: How good is the point above? Give it a score out of 5 (1 = weak; 5 = excellent).

 Write a short comment about this point. Tell me what you think is good or bad about this point (use the information from the common mistakes to help you)

Task 2: Read extracts B – E below and then complete the following activities.
1. Highlight the words that have been used to telegraph the points above in extract A, B, C, D and E. 

2. Is the point valid? Yes or No 

3. Discuss whether you think these points are well telegraphed. Write a comment in the space provided.

4. In a different coloured pen highlight the part of the text that is explicitly explaining the telegraphed points above.

5. Comment on the explanation/analysis in extract a-e  above and decide what mark this level of analysis would warrant.

Decide if you think that the points of analysis are valid and then using a sliding scale decide if they are: Excellent/Good/reasonable/poor/ weak) :( 5 = excellent to 1= weak) 
Read extract B
A way that a budget deficit reduction programme could improve the long term economic prospects is by implementing fiscal austerity.  This is where there is a increase in government spending trying to reduce inflation in a recession and keep it low and stable.  If the government were to increase government spending on infrastructure this would mean an increase in the quantity and quality of factors of production and so there would be an increase in the productive potential of the economy.
……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………
Read extract C
It could also be argued that a budget deficit could be beneficial to the economy, making a reduction programme obsolete.  By running a budget deficit, the government can add to the supply side of the economy, spending on current accounts such as education will improve the quality of labour. By spending on the capital account, infrastructure such as transport can be improved, this can reduce geographic unemployment as firms can set up in areas of concern to the government, creating jobs and increasing GDP through the LRAS shifting right.
……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………
Read extract D 
On the other hand a negative effect of a budget deficit reduction programme could be that there will be a rise in unemployment.  If the government increases the tax rate the consumers will have less disposable income and firms will have less retained profits, which could cause consumption and investment to decrease.  Investment and consumption are componenets of aggregate demand , along with government spending which would also decrease.  Therefore AD would decrease creating a negative output gap, which menas a rise in unemployed resources.
……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

Read Extract E
Reducing the budget deficit could lead to an increase in long run aggregate supply.  Thjis occurs because to reduce the deficit the government could increase corporation tax. This would reduce the amount of profits the firm has that normally would be invested in capital.  If there is less investment in capital there will not be an increase in the quantity and quality of factors of production, so the LRAS will not shift out and productive potential will not increase. 
……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………
Task 3 & 4 

Read the essay extract below and then complete the following activities:-
	Abbreviation and examples
	Explanation of the exam skill

	Kn
Use of correct definition and correct use of economic theory and concepts
	AO1: KNOWLEDGE: Demonstrate knowledge of terms/concepts and theories/models to show an understanding of the behaviour of economic agents and how they are affected by and respond to economic issues.

	Ap
Use of diagrams to support the point you are making:

Use of data to support your point.

Correct use of economic theory to the question set.
	AO2: APPLICATION: Apply knowledge and understanding to various economic contexts to show how economic agents are affected by and respond to economic issues

	An
A detailed explanation, built up in logical chains, using economic language to make a point.
	AO3: ANALYSIS: Analyse issues within economics, showing an understanding of their impact on economic agents

	Ev

This is where you sat something significant about the point that you’ve just made. 

Use the evaluation document that you’ve been provided with as an aid.
	AO4: EVALUATION: Evaluate economic arguments and use qualitative and quantitative evidence to support informed judgements relating to economic issues


6. Use the following the abbreviation below (Kn, Ap, An and Ev) to indicate where you see these skills in the essay fragment in Extract F below.
7. Highlight in a different coloured pen the telegraphed portion of the analysis.
8. Complete the evaluative points for the 1st and 2nd piece of analysis/point/explanation.
9. Complete the rest of this essay by writing a final point and evaluating it.

Extract F 

One way that a budget deficit reducing programme can improve the long run economic prospects of the Uk is through less government borrowing leading to lower interest rates and therefore greater investment.  This process is the reverse of financial crowing out and occurs when the government is reduces it’s budget deficit and therefore needs to issue fewer bonds to fund it’s borrowing.  This decreases the demand for loanable funds shifting the DLF curve from DLF1 to DLF 2 decreasing the interest rate from IR1 to IR2.  This lower rate of interest provides a greater incentive for firms in the private sector to invest in capital as borrowing is now cheaper and therefore less risky.  This will increase the quantity and quality of factors of production, leading to an increase in the productive potential of the economy in the long run.

However if the reduction in the budget deficit is only small then interest rates may not fall far enough to provide a strong enough incentive for firms to invest.  It also depends upon whether forms need to borrow to invest, as UK firms are currently sitting on £720bn worth of retained profits and therefore many do not require loans and yet the still will not invest. Furthermore without business confidence even at very low interest rates  or in ownership of retained profits uk firms may choose not to invest.  
Essay Marking Grid 
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Response

Max
25 marks

Sound, focused analysis and well-supported evaluation that:

is well organised, showing sound knowledge and understanding of
economic terminology, concepts and principles with few, if any, errors
includes good application of relevant economic principles and, where
appropriate, good use of data to support the response

includes well-focused analysis with clear, logical chains of reasoning
includes supported evaluation throughout the response and in a final
conclusion.

21-25
marks

Sound, focused analysis and some supported evaluation that:

is well organised, showing sound knowledge and understanding of
economic terminology, concepts and principles with few, if any, errors
includes good application of relevant economic principles and, where
appropriate, some good use of data to support the response

includes some well-focused analysis with clear, logical chains of
reasoning

includes some reasonable, supported evaluation

16-20
marks

Some reasonable analysis but generally unsupported evaluation that:

focuses on issues that are relevant to the question, showing
satisfactory knowledge and understanding of economic terminology,
concepts and principles but some weaknesses may be present
includes reasonable application of relevant economic principles and,
where appropriate, some use of data to support the response
includes some reasonable analysis but which might not be adequately
developed or becomes confused in places

includes fairly superficial evaluation; there s likely to be some attempt
to make relevant judgements but these aren't well-supported by
arguments and/or data

11-15
marks

A fairly weak response with some understanding that:

includes some limited knowledge and understanding of economic
terminology, concepts and principles but some errors are likely
includes some limited application of relevant economic principles
and/or data to the question

includes some limited analysis but it may lack focus and/or become
confused

includes some evaluation which is weak and unsupported

6-10
marks

Avery weak response that:

includes lttle relevant knowledge and understanding of economic
terminology, concepts and principles

includes analysis which s, at best, very weak

includes attempted evaluation which is weak and unsupported

1-5
marks
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